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UNIT – V           
SET 

1. If A = { }1,3,5,7  B = { }2,3,4,5  C = { }2,4,6,8  are three sets then find  

(a) A∩  (B∪C)                   (b) A-B 

 

2. If A = { }1,2,3,4  B = { }2,4,5,8  C = { }3,4,5,6,7  are three sets then find  

(a) A∩B                 (b) B∪C                 (c) A∩B∩C 

 

3. If A = { }, , ,a b c d  B = { }, , ,e f g c  U = { }, , , , , , ,a b c d e f g h  are three sets then find  

(a) (A∪B)              (b) (A∩B)               (c) B-A 

 

4. If A = { }1,2,3,4  B = { }2,3,4,5  C = { }1,3,4,5,6,7 are three sets then verify that  
( ) ( ) ( )A B C A B A C=∩ ∪ ∩ ∪ ∩  

 

5. If U = { }0,1,2,3,4,5,6,7,8,9    A = { }0,3,4,7     B = { }1,2,8,9  are the three sets then 

verify that ( ) ' ' 'A B A B=∪ ∩  

 

6. If the two sets are  A = { }11,12,13,14,15,16     B = { }11,12,15,16,17,18,19 find A-B 

and B-A by Venn Diagram.  

 

7. Out of 60 students 35 play Hockey, 20 play Hockey and Cricket both. Find the 
Number of students who play Cricket and Cricket only. 
60 Nk=ksa esa ls 35 Nk= gkWdh [ksyrs gSaA 20 Nk= gkWdh rFkk fØdsV nksuksa [ksyrs gSa rks 
Kkr djsa fd fØdsV [ksyus okys fdrus Nk= gSa vkSj dsoy fØdsV [ksyus okys fdrus \ 

 

8. Out of group of 80 students, 50 students study physics and 40 study chemistry. 
Find how many students study the both subjects and only physics.  
80 Nk=ksa ds ,d lewg esa ls 50 Nk= HkkSfrdh i<+rs gSa vkSj 40 Nk= jlk;u i<+rs gSa rks 
Kkr djsa fd fdrus Nk= nksuksa fo"k; i<+rs gSa vkSj fdrus dsoy HkkSfrdh i<+rs gSa \ 

 

9. Find the H.C.F of 18,24 and 30 by using set. 
leqPp ds Á;ksx ls 18]24 vkSj 30 dk eålå fudkysaA  

 

10. Calculate L.C.M of 4,6,8 by Set Method. 
leqPp; fof/k ls 4]6]8 dk y?kqre lekioR;Z fudkysaA  

 

11. In a group of 26 persons, 8 persons take tea instead of coffee and 16 persons 
take tea. How many persons take only coffee. Not taking tea.  
26 O;fDr;ksa ds lewg esa 08 O;fDr dkWQh u ihdj pk; ihrs gSa vkSj 16 O;fDr pk; ihrs 
gSaA fdrus O;fDr pk; u ihdj dsoy dkWQh ihrs gSa \ 

 

12. If n (A ∪B) = 80, n (B) = 15 and n (A∩B) = 5 then find the value of n(A) and 
n(A)-n(A∩B). 

 

13. Out of a group of 520 persons, 360 can speak only Hindi and 130 can speak 
only English. How many persons can speak both Hindi and English.  
520 O;fDr;ksa ds lewg esa 360 dsoy fgUnh rFkk 130 dsoy vaxzsth cksy ldrs gSaA 
fdrus O;fDr fgUnh vkSj vaxzsth nksuksa cksy ldrs gSa \ 
 

 

14. If A = { }1,2,3     B = { }3,4,5     C = { }1,3,5  are the three sets then find  

(a) (A-B) ∩  (A-C) 
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15. In a group each person knows at least one language out of Hindi and English. 
100 person know Hindi, 50 English and of them 25 knows both Hindi and 
English. Find by set method how many persons are there in the group. 
fdlh lewg dk ÁR;sd O;fDr fgUnh vkSj vaxzsth esa ls de ls de ,d Hkk"kk vo’; 
tkurs gSaA 100 O;fDr fgUnh tkurs gSa] 50 vaxzsth vkSj muesa ls 25 fgUnh vkSj vaxzsth 
nksuksa tkurs gSaA leqPp; fof/k ls crkb, fd ml lewg esa fdrus O;fDr gSaA  

 

16. In a group of 95 people, 40 like coffee, 60 like tea and each person likes at least 
one of the two drinks. How many people like both coffee and tea ? 
95 O;fDr;ksa ds lewg esa 40 dkWQh ilan djrs gSa] 60 pk; ilan djrs gSa rFkk ÁR;sd 
nksuksa is; esa ls dksÃ ,d vo’; ilan djrk gSA fdrus pk; vkSj dkWQh nksuksa ilan 
djrs gSa \ 

 

17. Out of 560 persons speaking Hindi, English or both language, 390 can speak on 
Hindi and 130 only English. How many persons can speak both English and 
Hindi ? 
fgUnh] vaxzsth vFkok nksuksa Hkk"kk,¡ cksyus okys 560 O;fDr;ksa esa 390 dsoy fgUnh vkSj 130 
dsoy vaxszth cksyrs gSa rks vaxzsth vkSj fgUnh cksyus okys fdrus O;fDr gSa \  

 

18. By using set, find out H.C.F of the numbers 24,36 and 48. 
leqPp; ds Á;ksx ls 24]36]48 dk eålå fudkysaA  

 

19. Out of a group of 45 students, 22 students can speak only Hindi and 12 can 
speak only English. How many students can speak Hindi and English both. 
 45 Nk=ksa ds ,d lewg esa 22 Nk= dsoy fgUnh cksy ldrs gSa] vkSj 12 dsoy vaxzsth 
cksy ldrs gSaA fdrus Nk= fgUnh vkSj vaxzsth nksuksa cksy ldrs gSa \ 

 

20. The population of a village is 5000 out of which 2800 eat eggs, 2500 eat mutton 
and 1200 persons eat eggs and mutton both. How many persons are vegetarian 
in the village ? 
fdlh xk¡o dh tula[;k 5000 gS ftlesa 2800 v.Mk [kkrs gSa] 2500 ek¡l [kkrs gSa vkSj 
1200 v.Mk ,oa ek¡l nksuksa [kkrs gSaA fdrus O;fDr ml xk¡o esa 'kkdkgkjh gSa \ 

 

21. Out of 60 students 35 play Hockey, 20 students play both Hockey and Cricket. 
Find out how many students play cricket only ? 
60 fo|kÆFk;ksa esa ls 35 fo|kFkÊ gkWdh [ksyrs gSa] 20 fo|kFkÊ gkWdh vkSj fØdsV nksuksa 
[ksyrs gSaA crk,¡ fd fdrus fo|kFkÊ dsoy fØdsV [ksyrs gSa \ 

 

22. In a class of 42 students. Each student plays at least one of the three games. 
Cricket, Hockey and Football. 14 students play Cricket, 20 play Hockey, 24 
play Football, 03 play both Cricket and Football, 02 play both Hockey and 
Football and none plays all the three games. Find the number of students who 
play Cricket but not Hockey ? 
,d d{kk esa 42 Nk= gSaA ÁR;sd Nk= de ls de ,d [ksy fØdsV] gkWdh] QqVckWy 
[ksyrk gSA ;fn 14 Nk= fØdsV [ksyrs gksa] 20 gkWdh [ksyrs gksa] 24 QqVckWy [ksyrs gksa] 
03 fØdsV rFkk QqVckWy [ksyrs gksa] 02 gkWdh rFkk QqVckWy [ksyrs gksa rFkk rhuksa [ksy 
dksÃ Hkh Nk= u [ksyrk gks rks mu Nk=ksa dh la[;k crk,¡ tks fØdsV [ksyrs gksa ysfdu 
gkWdh ughaA   
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23. Find HCF from the following by using set – 12, 18, 36, 42 
leqPp; fof/k ls fuEufyf[kr dk eålå fudkysa %&  
12] 18] 36] 42 

 

24. Find LCM from the following by using set – 3, 6, 15, 18 
leqPp; fof/k ls fuEufyf[kr dk yålå fudkysa %& 
3] 6] 15] 18 

 

25. Out of a survey of 500 car owners 400 gets the report of car A 200 of car B and 
50 of car A & B both. Is this report correct ? 
500 dkj ekfydksa ds losZ esa 400 dks dkj A 200 dks B vkSj 50 dks dkj A vkSj B 
nksuksa dk fjiksVZ feykA D;k ;g fjiksVZ lgh gS \ 

 

26. In a group of some persons. 70 persons play football, 60 play cricket and 30 
play the both games. Find how many persons in this group and also find how 
many play only football and only cricket. 
dqN O;fDr ds lewg esa ls 70 O;fDr QqVckWy [kyrs gSaA 60 O;fDr fØdsV [kyrs gSaA 30 
O;fDr nksuksa [ksy [kyrs gSa vkSj fdrus O;fDr dsoy QqVckWy vkSj fdrus dsoy fØdsV 
[ksyrs gSa \ 

 

27. 50 students of a class study either Accountancy or Statistics or both. 12 students 
take both subjects and 18 study only Statistics. How many students study 
Accountancy ? 
,d d{kk esa 50 fo|kFkÊ gSa] muds fo"k; cgh [kkrk ;k lkaf[;dh ;k nksuksa gSaA ;fn 12 
fo|kFkÊ nksuksa fo"k; i<+rs gSa rFkk 18 dsoy lkaf[;dh rks [kkrk cgh fo"k; fdrus Nk= 
i<+rs gSa \ 

 

28. Show the following by venn diagram. 
osu vkjs[k }kjk fuEukafdr dks fn[kykb;sA  
(a) (A∪B)’                     (b) (A ∩B)’             (c) (A-B)’ 

 

29. If A = { }1,2,3    B = { }4,5,6     C = { }7,8,9  prove that (A∪B) ∪C = A ∪ (B∪C) 

;fn A = { }1,2,3    B = { }4,5,6     C = { }7,8,9  lR;kfir djsa  
(A ∪B) ∪C = A ∪ (B∪C) 

 

30. If 40% students of a class has taken mathematics and 80% students has taken 
Biology. Find the percentage of such of a class who have taken Biology only. 
;fn fdlh d{kk ds 40% Nk=ksa us xf.kr rFkk 80% Nk=ksa us tho foKku fy;k gks] rks 
oxZ ds mu Nk=ksa dk Áfr’kr fudkysa ftUgksaus dsoy tho foKku fy;k gksA  

 

 


